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24 12 104 8.7 :1
FRA| 1 25 25 1
QHLEA| 1 5 5:1
HERA| 2 17 8.5 :1
6 o|27|E95 (22 7]5): K| at¢ A 1 20 20 11
EHA| 3 15 5:1
FET 2 11 5.5 :1
oA 1 5 5:1
AdT 1 6 6 :1
7 | cmvimezE=rIE) ANz A 1 18 11
SFA 1 18 18 :1
24 14 65 4.6 :1
HUYFA| 1 5 5:1
HERA| 1 6 6 :1
AEA| 3 16 5.3 :1
8 AlHog(REAME) SHEA 2 9 45 :1
THEA| 1 10 10 :1
LA 1 7 71
O|HA| 1 3 31
ZHA| 4 9 2311
24 5 16 3.2:1
9 AMHog(EALSEA) AEA| 3 16 5.3 :1
EHA| 2 0 -
10 . 24 2 75 37.5:1
47| 2 75 3751
24 3 79 26.3 :1
1 Aldazlog (Al dEa) 471 1 38 38 :1
ZEA 2 41 20.5 :1
AA 41 594 14.5 :1
FRA| 10 97 9.7 :1
kel N 2 29 14.5 11
SHA| 5 35 71
EA 15 123 8.2:1
EHA| 1 16 16 :1
12 2HIZF(2H) HEKA| 1 19 19 :1
ZEA 1 123 123 11
TEA| 1 31 311
oAl 2 12 6:1
THEA 1 12 1211
7tz 1 16 16 :1
AMT 1 81 81 :1
13 SHIB(2H):2 N7 A 1 * ikl
OFAIA| 1 35 35 :1




